PRATHAM EDUCATION FOUNDATION g

Pratham

Q.1) T DIV 30~ JUReb P10 BT 4 TR | T BV S :
(A) 39° (B) 72°

(C) 108° (D) 144° Ans. (D) 144°
Q.2) 3MTHTd T X HT A F1 § SIaid ACB Th IR W1 :

(A) 30° (B) 40°

(©) 50° (D) 60°
Ans. (C) 50°

A

Q.3) If two acute angles of a right triangle are equal, then the measure of each of
these angles is :

e fordil THBIU FAYS & &1 YADIU SRI6R B, dl 399 o YAD & A9 gl -

(A) 45° (B) 50°

(C) 60° (D) 75° Ans. (A) 45°
Q.4) 3THid T AB TUT CD TH G &I fag 0 W Ufdwse dcll § | £COB SRR § —
(A) 36° (B) 72°
(C) 108° (D) 144°

Ans. (B) 72°

(A) 36° (B) 72°
(C) 108° (D) 18°
Ans. (B) 72°

Q.6) TS fHft Y & T HI0T HHRT: 60° TUT 65° §, < SHBT ATRT HI0T GRTI |
(A) 55° (B) 45°

(C) 65° (D) 60° Ans. (A) 55°

YT & <) P HH: 60° TUT65° T |
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RERT BITT = 180° — (60° + 65°)

TRERT PITT = 180° — 125°
TRERT PITT = 550
Q.7) AHAH LBOD BT AU R |

(A) x° (B) (90 + x)°

(C) (90 — x)° (D) (180 —x)°

Ans. (B) (90 + x)°

£BOD = £FOB - 2FOD
£BOD = £90°—x°  {<FOD = <EOC 2fuiftya Hion

Q.8) 7Y 3B T ¢,m, TUT n THIGR WY & forg fordes ¥@T h HHRT: A, B TUTC W
Uferedg Rl 8 /21 YT 22 & A F1d HIMT | K
A\

£ABm = 48° { NIRRT BT}
21 = £ABm {I7Td BT} ) B

21 = 48° 437
£ABm = £BCn { TTd &I} i/uz
2BCn = 48°
3§ £BCn + £2 = 180° [Ueh TR &N TR I HIUN BT TRT 180°81dT &
22 = 180° — £BCn
22 = 180° — 48°
22 = 132°

Q.9) 3THd & PQ ¥WT d BC JHIR ¢ | YT ABC Tsh wHgaTg YW & foRH AB = AC
& Y & f1 ST & 7 I I |
\ 2P A Q,
B PQIWId BC THIAR 8 | T AB = AC :
£ PAC = £ACB { THIcR HI }
« ACB = 65°

~ AB = AC

2ACB = £ABC = 65°

3{d + 2 ABC+ 2 BAC+ 2 ACB = 180°
~ £ BAC = 180° — 130° = 50°

s Second Chance Program




PRATHAM EDUCATION FOUNDATION g

Q.10) et RISt 3 101 3 : 4 5 3 U A B | Byl & T BIE HI0T 1 AT 1 R
P |
ﬁ%*ﬁa:ﬁwa:m 5

- IS & T ofd: BHIvN 6T AN 180° BT § |
TETT B0 = 2 x 3 =15 X 3 = 45°

QIR BT =%x4=15x4=60°

AR BI0N = 22 x5 =15%5 = 75°
Q.11) e @1 ¢ gafgarg AYS ABC & STUR BC & 1Y FHIR 81 dl AYS & i+l BHiur
T1d BIfo |
THfgaTg Y ABC H AC = BC
« ABC = £ACB (- U FAYS & T YoT3fl & TR HI0 THH 8ld 8 }
£BAD = 130°
£BAD = £ABC + 2ACB
{ P 1 STl 101 GG 3id: IV & TN b SRR ST & )
2,ABC = 130°
£ABC = 65°
# LACB = 65°
2ABC + £ACB + £BAC =
180° {AYS & 3fd: HIVN T AN}
<BAC = 180° — { ZABC + £ACB}
£BAC = 180° — 130°
£BAC = 50°

Q.12) AP H £ T m FHIAR @Y § | DIV 1 H 7 T G4t & A 10 PITom |

L
~
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